Third grade
Chapter 4

4.1

Multiply with 2 and 4

You can skip count to help you find a product.
Find the product. 4 = 3

Step 1 Use cubes to model 4 groups of 3.
Step 2 Skip count by 3s four times to find how many in all.

BEEE

3, 6, 7, 12

4 groups of 3 is equal to 12.
So, 4 x3=12




4.2

Multiply with 5 and 10

You can use an array to multiply with 5.

Find the product. 5 = 4

Step 1 Make an array to show 5 * 4. EEEE
Show 5 rows of 4 tiles. EEEE
Step 2 Count the tiles. EEER
5 rows of 4 tiles = 20 tiles EEEE
So,5 X 4 = 20, EEEN

You can use doubles to multiply with 10.

Find the product. & » 10
Think: 5 + 5 =10

Multiply with 5. 6x5=30
Then double the product. 30 + 30 = 60
So, 6 * 10 = 60,

4.3

Multiply with 3 and 6

You can use a number line to multiply with 3 or 6.

Find the product. & = 3
The factor € tells you to make 6 jumps.
The factor 3 tells you each jump should be 3 spaces.

Step 1 Startat 0.
Make 6 jumps of 3 spaces.

Step 2 The number you land on is the product.
So,6 x 3 =18,




4.4

Algebra distributive property

A garden has 4 rows of 7 corn stalks. How many corn stalks
in all are in the garden?

You can use the Distributive Property to break an array
into smaller arrays to help you find the answer.

Find 4 % 7. EEEEENEN
AEEEEENEN
Step 1 Make an array to show 4 rows of 7 EEEEEEE
EEEEEER
drowsof 7 ord =7
Step 2 Break apart the array to make two EEEER. EBEN
smaller arrays for facts you know. EEEE EEE
EEER EEN
Step 3 Write the multiplication for the new EEEE BEENE
arrays. Multiply and then add the products dxd4 + 4%3
to find the answer. 16 4 12 = 28

4 xT=4x4)+ (4 x3)
4x¥= 16 + 12
AxT = 28

So, there are 28 corn stalks in all in the garden.

4.5

Multiply with 7

Pablo is making gift bags for his party. He puts 7 pencils
in each bag. How many pencils will he need for 3 gift bags?

Find3 x 7
You can use a number line to find the product.
Step 1 Draw a number line.

Step 2 Start at 0. Draw 3 jumps of 7.

| 2 3
ff__w_'___wd___h
S e B
o ! 14 21

Ix 7 =21
So, Pablo will need —_21__ pencils for 3 gift bags.




4.6

Algebra associative property of multiplication

the producl remains Lthe same.

Find 4 x (3 % 1).

Step 1 Start inside the parentheses.
Make 3 groups of 1 counter.

3= & e

Step 2 Multiply by 4, the number
outside the parenthesas. Make
4 groups of the counters in Step 1.

43 (3% 1)

Step 3 Count the total number of
counters, 12 counters

You can use the Associative Property of Multiplication
to multiply 3 factors. If you change the grouping of factors,

Find {4 x 3} »x 1.

Step 1 Start inside the parentheses.
Make 4 groups of 3 counters.

axzy ® @® @ @
o0 00 00 00

Step 2 Multiply by 1, the number
outside the parentheses. Make
1 group of the counters in Step 1.

(4 > 3) % 1

Step 3 Count the total number of
counters. 12 counters

So, 4> (3x1)=12and (4 % 3) x 1 =12,




4.7

Algebra patterns on a multiplication table

You can use a multiplication table to explore number patterns.
Step 1 Shadamet_}ullumlnsfarﬁand 10 @[u|1|:|3|4|5|§|1|l|!|iﬂ]
on the multiplication table. — o
ollojoflo|oflo|o|o|o|o|o]o
Step 2 Look for patterns in the shaded ol 2z lals|el7]z]9|w
humbers. 2|0l 24 &8 [w0]2]wu|e|e[0
* The products in the 55 column s (ol 36| o] 2s]we|a]2e|27]50
end in 0 or 5. (4 |{ o] 4] a|2]e|20]24]28]32]3 40
¢ The products in the 55 column T O 5 | 10| 15[ 20 [25 30| 35 |40 (45|50
repeat—even, odd. T || o & 12 1a]24 [30] 36| 42 |48 ][54 60
« All the products in the 10s 7 || o 7 [ 21|28 ]38 42|49 |56 | 63|70
column are even. '8 || 0 6|16 24]32 [40[48[ 356 |64 |72 |80
Lo || o o[1e|27]36]as]5a] 63|72 ] [o0
10| 0] 10]20] 30| 40| 50| 60| 70 | 80| 90 |100)

4.8

Multiply with 8

You can break apart arrays to multiply with 8.

Candace works at a candle shop.
She places candles in a box for display.
The box has 7 rows of 8 candles.
How many candles are in the box in all?

You can break apart an array to find 7 > 8.

Step 1 Draw 7 rows of 8 squaras. EEBE .i. EEBE
EEN Iil EEN
AEEEEEEN

Spar e arrey into two smalierarys MEEEEEEE
to show facts you know. EEEEEEEN
EEEEEEER

TXB=(7x4) +(7x4) EEEEEEENR

Tx8= 28 + 28 7w 4 7w 4

Tx8= 56

So, there are 56 candles in the box,




4.9



